
/ No,1/2

-

230626 Y-N

1

4

2

5
7

7
5

4
7
5

6

3

8

1

1

4

2

5
7

7
5

4
7
5

6

3

8

1

1
652-1426000U × 1 -

× 2 -

652-1426200U - × 1
- × 2

1

type Ⅱ 652-1440000U × 1 -
× 2 -

type Ⅱ 652-1440200U - × 1
- × 2

1 type Ⅲ 652-1453101 - × 1
9x16xL40mm 652-1453102 - × 2

2 8mm 001-0550008 × 2 × 2

3 M8 × 55 080-0510055 × 2 -
M8 × 55 080-0503055 - × 2

4 M8 × 45 080-0510045 × 2 -
M8 × 45 080-0503045 - × 2

5 8 × 16 × T1.2mm 090-0900008 × 4 -
8 × 16 × T1.2mm 090-0911008 - × 4

6 8 × 22 × T2.3mm 090-0902008 × 2 × 2

7 8mm 091-0500008 × 4 -
8mm 091-0506008 - × 4

8
652-0500010 × 1 × 1652-0500020

TANDEM BACK REST BAR type
APPLICATION : PCX125(JF28/56/81/JK05/06)/PCX150(KF12/KF18/30)/PCX160(KF47)

CODE BACK REST PAD (L SIZE) BACK REST PAD (S SIZE)
TYPEⅠ
TYPEⅡ
TYPEⅢ

SILVER : 80-652-14260/BLACK : 80-652-14261
SILVER : 80-652-14400/BLACK : 80-652-14401

SILVER : 652-1426050/BLACK : 652-1426250
SILVER : 652-1440050/BLACK : 652-1440250

BLACK (STEEL) : 80-652-14531
REMARK Installing to 125 (JF28) / 150(KF12), making hole to outer cowls is required.
Thank you for purchasing Kitaco product. Read and understand the instruction before installing.

break and trouble.

Do not modify the way which is not listed or it will cause damage and trouble.

improper setting.

PACKING LIST
NAME

SILVER BLACK
CODE QTY

BACK REST BAR (SILVER)
COLLAR
BACK REST BAR (BLACK)
COLLAR
BACK REST BAR (SILVER)
COLLAR
BACK REST BAR (BLACK)
COLLAR
BACK REST BAR (BLACK/STEEL)
COLLAR(BLACK)

CAP BOLT(BLACK)

CAP BOLT(BLACK)

PAD FOR BACK REST (300)
PAD FOR BACK REST (150)

L SIZE
S SIZE

※

GRAB RAIL COVER REMOVING / INSTALLING
Be careful not to break 

Be careful not to break 

※

Be careful not to 

・m

・m

※

・m

・m

GRAB RAIL COVER LID

※
※

GRAB RAIL
COVER LID GRAB RAIL COVER

SNAP FIT CLIP

Be careful not to break 



φ
18
～
20
m
m

sc
al
e 
: 1
/1

PC
X1
25
/E
:H
EV
/1
60
（
JK
05
/0
6/
KF
47
)

 ： 
Ad
ob
e 
Ac
ro
ba
t R
ea
de
r D
C

←

 
/
 

No
,1
/2

-

TA
N

D
EM

 B
A

C
K

 R
ES

T 
B

A
R

 ty
pe

AP
PL

IC
AT

IO
N

 : 
PC

X1
25

(J
F2

8/
56

/8
1/

JK
05

/0
6)

/P
C

X1
50

(K
F1

2/
KF

18
/3

0)
/P

C
X1

60
(K

F4
7)

C
O

D
E

BA
C

K 
R

ES
T 

PA
D

 (L
 S

IZ
E)

BA
C

K 
R

ES
T 

PA
D

 (S
 S

IZ
E)

TY
PE
Ⅰ

TY
PE
Ⅱ

TY
PE
Ⅲ

SI
LV

ER
 : 

80
-6

52
-1

42
60

/B
LA

C
K 

: 8
0-

65
2-

14
26

1
SI

LV
ER

 : 
80

-6
52

-1
44

00
/B

LA
C

K 
: 8

0-
65

2-
14

40
1

SI
LV

ER
 : 

65
2-

14
26

05
0/

BL
AC

K 
: 6

52
-1

42
62

50
SI

LV
ER

 : 
65

2-
14

40
05

0/
BL

AC
K 

: 6
52

-1
44

02
50

BL
AC

K 
(S

TE
EL

) :
 8

0-
65

2-
14

53
1

R
EM

AR
K

In
st

al
lin

g 
to

 1
25

 (J
F2

8)
 / 

15
0(

KF
12

), 
m

ak
in

g 
ho

le
 to

 o
ut

er
 c

ow
ls

 is
 re

qu
ire

d.

PA
TT

ER
N

 P
AP

ER
 F

O
R

 

PA
TT

ER
N

 P
AP

ER
 P

R
IN

T 
SE

TT
IN

G

G
R

AB
 R

AI
L 

C
O

VE
R

 L
ID

 

IN
ST

AL
LA

TI
O

N
 E

XA
M

PL
E


